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DIRECT VARIATION :
» Recal] that direct variation is a “QQQ v~ function of the formy . Kx , where k is the nonzero - "f

constant of variation. — ey
For each function, determine w hethcr y varies dlrectly with x. If so, find the fponstant of variation and write 3/
the equation. ' i : l > K - _5_ —’f
1. : ) ’ s
X 1 2 30| : a7
y 1 4 9 No ' ATy
Fllez B3, . | @
2. . .. . . . - ‘. o,
x -1 1 37 i . 7 8

. e 2,

Yy -3 3 9 ° IL 3 - Wi
—Yes .. ©
In each exercise, y varies directly withx." Find the missing value. ;“.’

3. Ify=3 whenx =2, find x when y =,5. 3 _ K4 _,2.-./ _®
§= KX (DK=-35£ @ y=3x @Gr5=7zx'73 A

3=k (2) s : o

4. Ify—-4whenx—— ﬁndywhenx——‘ ' N i
3)4 k=-8 @ = @ 2= e

5. Ify= —14whenx——7 ﬁndxwheny 22.

—4=k(=T) k=2 = Y=2% a a
=1 = 22=2x X=Il| N
2 2 .

INVERSE VARIATION _|_L_
= A function of the form y = x or xy k, where k0. . —@

Suppose that x and y vary inversely. Wnte a function that models each inverse variation.

6. (3,-5) 3— ® K=-Is
¢

5582 @ y= L
7.(0.3,1.4) 5.—&_ @ K-.QZ . -
0.3 ;t—}_ o«z@ y= 2 .qz ¢

8. (7,4) - ¢
Explain why the table below shows an inverse variation. ‘ i

Xy =1< T - : ,
x Jozlos12] W= 2.4 3

y 12 | 4 | 2 , ,
2=k v - | 1
0.2 l

9.
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COMEINED VARIATION
» Combines direct and inverse variations in more complex relationships

Combined Variation EM
y varies directly with the square of x
o——

y varies inversely with the cube of x
—

4=
g 3=
Z=

z varies jointly with x and y

Ly like direct+
z varies jointly with x and y and inversely with w z P X Eé

z varies directly with x and inversely with the
product of w and y Z

Write the function that models each relationship. Find z when x = 4 and y=9.

z=15.

10. z varies dlrectly with x and inversely with y. When X=6 6 and y 2,
_‘

Oz=Kx  I5=3K @ z=5%

K=5 4 -

1S = »«?o @ z=5(4) _ 20
CoTa T

11. z varies jointly with x and y. Whenx = 2andy =3,z=60.

25-3(00

12. z varies directly with the square of x and inversely with y. Whenx = 2and y =4,

z=3. _ lb
Z - 3 )

13. z varies inversely with the product of x and y. When x = 2andy=4,z=0.5.

i

= K =
k=4 273
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